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ÍÛæ̃ Û¶ÛÛ :   (1) ÍÛÛþä×ù •Û¨Û¶ÛýÛ×ªÛ ÈÛÛ¸ÛÁõÈÛÛ¶Ûà ™æö¤ø ™öé. 
Instructions :  Simple calculators are allowed. 
    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …Û×ïõ¦øÛ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 
     Figures to the right indicate full marks of the question. 
 

1. (a) ÍÛÐüÍÛ×¼Û×µÛ …é¤øÅÛé ÉÛä× ? ÍÛÐüÍÛ×¼Û×µÛ ÉÛÛéµÛÈÛÛ¶Ûà ÜÈÛïõà¨ÛÙ …ÛïèõÜ©Û¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 4 
  What is Correlation ? Explain the method of scatter diagram to find correlation. 

…¬ÛÈÛÛ/OR 
  ¼Ûé •Ûä¨ÛµÛ¾ÛÛë ÈÛ˜˜Ûé¶ÛÛ •Ûä¨ÛÛ©¾Ûïõ ÍÛ×¼Û×µÛ¶ÛÛ ¸ÛóïõÛÁõÛé ˜Û˜ÛÛë. 
  Discuss the types of association between two attributes. 
 (b) 50 ÜÈÛ²Û¬Ûâ…Ûé…é …¬ÛÙÉÛÛÍªÛ …¶Ûé …Û×ïõ¦øÛÉÛÛÍªÛ¾ÛÛ× ¾ÛéÇÈÛéÅÛÛ •Ûä¨Û ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. ¼Û×¶Ûé ÈÛ˜˜Ûé¶ÛÛé 

ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé. 6 
     …Û×ïõ¦øÛÉÛÛÍªÛ¶ÛÛ •Ûä¨Û 

…¬ÛÙÉÛÛÍªÛ¶ÛÛ •Ûä̈ Û 10 – 20 20 – 30 30 – 40 
5 – 15 – 7 10 
15 – 25 5 8 8 
25 – 35 2 10 – 

 

  The marks obtained by 50 students in Economics and statistics are as follows. Find 
Karl Pearson’s coefficient of correlation between them.  

                              Marks in Statistics 
Marks in Economics 10 – 20 20 – 30 30 – 40 

5 – 15 – 7 10 
15 – 25 5 8 8 
25 – 35 2 10 – 

…¬ÛÈÛÛ/OR 
  …éïõ ÈÛÍ©Ûä¶ÛÛé ½ÛÛÈÛ …¶Ûé ©Ûé¶Ûà ¾ÛÛ×•Û ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛóÛ¸ýÛ ™öé. ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé 

…¶Ûé ©Ûé¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé. 
   

½ÛÛÈÛ 65 40 35 75 63 80 35 20 85 65 55 33 
¾ÛÛ×•Û 30 55 68 28 76 25 80 85 20 35 45 65 

   

  The following data are available for price and demand of an item. Find the rank 
correlation coefficient and interpret it. 
Price 65 40 35 75 63 80 35 20 85 65 55 33 
Demand 30 55 68 28 76 25 80 85 20 35 45 65 
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 (c) …éïõ ºéõî¤øÁõà¶ÛÛ 4000 ïõÛÁõà•ÛÁõÛé¾ÛÛ× 3300 ïõÛÁõà•ÛÁõÛé ýÛäÜ¶ÛýÛ¶Û¶ÛÛ ÍÛ½ýÛ Ðü©ÛÛ. ºéõî¤øÁõà¾ÛÛ× ÍªÛà 
ïõÛÁõà•ÛÁõÛé¶Ûà ÍÛ×”ýÛÛ 500 Ðü©Ûà ›÷é¾ÛÛ×¬Ûà 400 ýÛäÜ¶ÛýÛ¶Û¶ÛÛ ÍÛ½ýÛÛé ¶ÛÐüÛé©ÛÛ. ÍªÛà ïõÛÁõà•ÛÁõÛé …¶Ûé 
ýÛäÜ¶ÛýÛ¶Û¶ÛÛ ÍÛ½ýÛ¸Ûþù ÈÛ˜˜Ûé¶ÛÛé ýÛäÅÛ¶ÛÛé •Ûä¨ÛÛ©¾Ûïõ ÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé. 4 

  Out of 4000 workers in a factory, 3300 workers were member of union. The 
number of female workers in the factory was 500 of which 400 were not members 
of Union. Find the Yule’s coefficient of association between female workers and 
membership of the union. 

…¬ÛÈÛÛ/OR 

  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¼Ûé •Ûä̈ ÛµÛ¾ÛÛë ÍÈÛ©Û×ªÛ ™öé ïéõ ¶ÛÐüá ©Ûé ˜ÛïõÛÍÛÛé : 
  (1) (A) = 80, (AB) = 75, () = 42, N = 145 

  (2) N = 240, (B) = 60, () = 160, (AB) = 20 
  Verify whether two attributes are independent or not using the following 

information : 

  (1) (A) = 80, (AB) = 75, () = 42, N = 145 

  (2) N = 240, (B) = 60, () = 160, (AB) = 20 
 

2. (a) µÛ×µÛÛïõàýÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û¶ÛÛ Š¸ÛýÛÛé•ÛÛé ˜Û˜ÛÛë. 4 
  Discuss the uses of Business Forecasting. 

     …¬ÛÈÛÛ/OR 

  µÛ×µÛÛïõàýÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 
  What is business forecasting ? State its limitations. 

 (b) …éïõ ºéõî¤øÁõà¶ÛÛ Š©¸ÛÛþù¶Û¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛäÁéõ”Û ÍÛ¾ÛàïõÁõ¨Û¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û ïõÁõÛé …¶Ûé 
©Ûé¶ÛÛ …ÛµÛÛÁéõ 2012 …¶Ûé 2013¶ÛÛ Š©¸ÛÛþù¶Û¶ÛÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶ÛÛé ¾ÛéÇÈÛÛé : 6 

   

ÈÛÌÛÙ 2006 2007 2008 2009 2010 2011

Š©¸ÛÛþù¶Û 77 88 94 85 91 98 
 

  Fit a linear equation for the following information of production in a factory and 
find forecasts for the production in 2012 and 2013 using it : 

Year 2006 2007 2008 2009 2010 2011

Production 77 88 94 85 91 98 

…¬ÛÈÛÛ/OR 

  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà …éïõ ÈÛÍ©Ûä¶ÛÛ ÈÛé˜ÛÛ¨Û¶ÛÛ …Û×ïõ¦øÛ þùÉÛÛÙÈÛé ™öé. Ü³ù–ÛÛ©Ûà ¸ÛÁõÈÛÅÛýÛ¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û 
ïõÁõà¶Ûé ÈÛÌÛÙ 2013 ¾ÛÛ¤éø ÈÛé˜ÛÛ¨Û¶Ûà …×þùÛœ÷©Û Ýïõ¾Û©Û ¾ÛéÇÈÛÛé : 

   

ÈÛÌÛÙ 2004 2006 2008 2010 2012

ÈÛé̃ ÛÛ¨Û 25 28 33 39 46 
 

  The following data show the figures of sales of an item. Obtain an estimate of sales 
for the year 2013 by fitting second degree parabola. 

Year 2004 2006 2008 2010 2012

Sale 25 28 33 39 46 
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 (c) ÉÛÄõ…Û©Û¶Ûà Ýïõ¾Û©Û 15 …¶Ûé  = 0.5 ÅÛˆ¶Ûé ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà –ÛÛ©ÛÛ×ïõàýÛ ÍÛÁõÇàïõÁõ¨Û¶Ûà 
Áõà©Ûé ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶ÛÛé ¾ÛéÇÈÛÛé :  4    

ÈÛÌÛÙ 2005 2006 2007 2008
¾ÛÛ×•Û 18 21 23 27 

 

  Taking initial value 15 and  = 0.5, obtain the forecasts from the following 
information using exponential smoothing method. 
Year 2005 2006 2007 2008
Demand 18 21 23 27 

    …¬ÛÈÛÛ/OR 
  ¶Ûà˜Ûé¶ÛÛ ïõÛéÌ¤øïõ¾ÛÛ× ›ä÷þùÛ ›ä÷þùÛ ÈÛÌÛÛë ¾ÛÛ¤éø –ÛÛ©ÛÛ×ïõàýÛ ÍÛÁõÇàïõÁõ¨Û¶Ûà Áõà©Ûé ¾ÛéÇÈÛéÅÛ ÍÛÁõÇ Ýïõ¾Û©ÛÛé 

…Û¸ÛéÅÛ ™öé. ›Ûé ÉÛÄõ…Û©Û¶Ûà Ýïõ¾Û©Û 500 …¶Ûé  = 0.6 ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ÐüÛéýÛ ©ÛÛé ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶ÛÛé 
¾ÛéÇÈÛÛé :    

ÍÛ¾ÛýÛ : t 1 2 3 4 5 
ÍÛÁõÇ Ýïõ¾Û©Û : St 535 552.5 554.25 575.78 550.74 

 

  The smoothed values for different years found using exponential smoothing 
method are given in the following table. If initial value 500 and  = 0.6 are taken, 
obtain the forecasts : 
Time : t 1 2 3 4 5 
Smooth value : St 535 552.5 554.25 575.78 550.74 

 
3. (a) ÈÛÍ©Ûà ÜÈÛÌÛýÛïõ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¶Ûà Áõà©ÛÛé ÈÛ¨ÛÙÈÛÛé. 4 
  Describe the methods of collecting demographic data. 
    …¬ÛÈÛÛ/OR 
  ÈÛÍ©Ûà ÜÈÛÌÛýÛïõ …½ýÛÛÍÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the importance of Demographic Study. 
 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁ¬Ûà ÉÛÐéüÁõ A …¶Ûé B ¶ÛÛ ÍÛÛþùÛ ¾Ûè©ýÛäþùÁõÛé ÉÛÛéµÛÛé. ÉÛÐéüÁõ B ¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ÅÛˆ ©Ûé 

ÉÛÐéüÁõÛé¶ÛÛ ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõÛé ÉÛÛéµÛÛé …¶Ûé ÍÛÁõ”ÛÛÈÛÛé : 6  
   

ÉÛÐéüÁõ A ÉÛÐéüÁõ B 
‹¾ÛÁõ 

ÈÛÍ©Ûà  ¾Ûè©ýÛäþùÁõ ÈÛÍ©Ûà ¾Ûè©ýÛäþùÁõ  
0 – 10 20,000 30 12,000 31 
10 – 35 50,000 25 30,000 22 
35 – 60 30,000 35 15,000 30 

60 ¬Ûà ÈÛµÛä 10,000 50 3,000 60 
 

  Find crude death rates of cities A and B from the following information. Taking 
city B as standard, find standard death rates of these cities and compare. 

City A City B 
Age 

Population Death Rate Population Death Rate 
0 – 10 20,000 30 12,000 31 
10 – 35 50,000 25 30,000 22 
35 – 60 30,000 35 15,000 30 

Above 60 10,000 50 3,000 60 
…¬ÛÈÛÛ/OR 
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  ÉÛÐéüÁõ X …¶Ûé ÉÛÐéüÁõ Y ¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé ¼Û×¶Ûé ÉÛÐéüÁõÛé¶ÛÛ ÍÛÛþùÛ ©Û¬ÛÛ 
¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõÛé ÉÛÛéµÛÛé. ïõýÛä ÉÛÐéüÁõ …ÛÁõÛé•ýÛ¶Ûà ´ùÜÌ¤ø…é ÈÛµÛä ÍÛÛÂ×ú ™öé ? 

   

ÉÛÐéüÁõ X ÉÛÐéüÁõ Y 

‹¾ÛÁõ ÈÛÍ©Ûà 
(Ðü›ÛÁõ¾ÛÛ×) 

¾Ûè©ýÛä ÍÛ×”ýÛÛ ÈÛÍ©Ûà 
(Ðü›ÛÁõ¾ÛÛ×) 

¾Ûè©ýÛä 
ÍÛ×”ýÛÛ 

¸Ûó¾ÛÛÜ¨Û©Û 
ÈÛÍ©Ûà 

(Ðü›ÛÁõ¾ÛÛ×) 

15 ¬Ûà …Ûé™öà 15 165 5 78 10 

15 – 30 40 200 30 180 35 
30 – 65 110 770 60 510 40 

65 …¶Ûé ÈÛµÛä 10 650 5 350 15 
 

  Using the following data of City X and City Y, find crude and standard death rates 
of both the cities. Which city is better regarding health ? 

City X City Y 

Age Population 
(in 

thousand) 

No. of 
deaths 

Population 
(in 

thousand) 

No. of 
deaths 

Standard 
population 

(in 
thousand) 

Less than 15 15 165 5 78 10 
15 – 30 40 200 30 180 35 
30 – 65 110 770 60 510 40 

65 & above 10 650 5 350 15 

 (c) …éïõ ÉÛÐéüÁõ¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÉÛÐéüÁõ¶ÛÛé (1) ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶Û þùÁõ, (2) Ü¶ÛýÛ©Û ‹¾ÛÁõ•ÛÛÇÛ 
¾ÛÛ¤éø¶ÛÛ ¸Ûó›÷¶Û¶Û þùÁõÛé ÉÛÛéµÛÛé. ›Ûé ÉÛÐéüÁõ¶Ûà ïäõÅÛ ÈÛÍ©Ûà 5,50,000 ÐüÛéýÛ ©ÛÛé ÍÛÛþùÛé ›÷¶¾ÛþùÁõ ¸Û¨Û 
ÉÛÛéµÛÛé.   4 

   

‹¾ÛÁõ 
ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 

(Ðü›ÛÁõ¾ÛÛ×) 
œ÷ÈÛ©ÛÛ ›÷¶¾ÛéÅÛÛ 
¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ 

15 – 25 45 2938 
25 – 35 40 5260 
35 – 45 35 1995 
45 – 55 30 90 

  
  Find : (1) General Fertility Rate (2) Specific fertility rates for a city from the 

following information of that city. If the total population of the city is 5,50,000. 
also find the crude birth rate : 

Age 
No. of females 
(in thousand) 

No. of live 
births 

15 – 25 45 2938 
25 – 35 40 5260 
35 – 45 35 1995 
45 – 55 30 90 

…¬ÛÈÛÛ/OR 
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  …éïõ œ÷ÅÅÛÛ¶Ûà ïäõÅÛ ÈÛÍ©Ûà 30 ÅÛÛ”Û ™öé, ›÷é¾ÛÛ× ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 41% ™öé. ïäõÅÛ ÍªÛà…Ûé¶Ûà 
ÍÛ×”ýÛÛ¶Ûà 48% ÍªÛà…Ûé ¸Ûó›÷¶Û¶Û ÈÛýÛ¾ÛÛ× ™öé. ›Ûé ©Ûé œ÷ÅÅÛÛ¶ÛÛé ÍÛÛþùÛé ¸Ûó›÷¶Û¶Û þùÁõ 75 ÐüÛéýÛ ©ÛÛé 
…ÛÈÛ©ÛÛ ÈÛÌÛÙ¾ÛÛ× ïéõ¤øÅÛÛ ¼ÛÛÇïõÛé ›÷¶¾ÛÉÛé ?  

  The total population of a district is 30 lakhs, of which 41% are females. 48% 
females of the total number of females are in child bearing age. If the general 
fertility rate of this district is 75, how many children may be born in the next year ? 

 

4. (a) ÍÛ¾Û›ÛÈÛÛé :  4 
  Explain : 

  (1) ÐüÛÁõ ËÛéÜ¨Ûïõ 
    Row Matrix 

  (2) ÉÛæ¶ýÛ ËÛéÜ¨Ûïõ 
    Zero Matrix 

  (3) ˜ÛÛéÁõÍÛ ËÛéÜ¨Ûïõ 
    Square Matrix 

  (4) ÜÈÛïõ¨ÛÙ ËÛéÜ¨Ûïõ 
    Diagonal Matrix 
    …¬ÛÈÛÛ/OR 
  ËÛéÜ¨Ûïõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ËÛéÜ¨Ûïõ …¶Ûé Ü¶ÛÊ˜ÛÛýÛïõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé.  
  Define matrix and state the difference between matrix and determinant. 

 (b) ›Ûé A–1 = 








2 –1 1

–3 2 –1
–2 1 0

 …¶Ûé B = 








0 1 2

2 –3 0
1 1 –1

, ÐüÛéýÛ ©ÛÛé AB ÉÛÛéµÛÛé.  6 

  If A–1 = 








2 –1 1

–3 2 –1
–2 1 0

 and B = 








0 1 2

2 –3 0
1 1 –1

, find AB. 

     …¬ÛÈÛÛ/OR 
  ÈýÛÍ©Û ËÛéÜ¨Ûïõ¶Ûà ¾Ûþùþù¬Ûà ¶Ûà˜Ûé¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé ŠïéõÅÛÛé : 
  Solve the following equations using inverse Matrix : 
  3x + y + z = 0 
  x + y + 2z = 4 
  3y – z = 1 

 (c) ›Ûé A = 






3 –2

–1 4
 ÐüÛéýÛ ©ÛÛé A2 – 7A + 10 I ÉÛÛéµÛÛé. 4 

  If A = 






3 –2

–1 4
 find A2 – 7A + 10 I. 

    …¬ÛÈÛÛ/OR 

  ›Ûé A = 






1 –1 3

2 0 1
 …¶Ûé B = 







2 1

1 –2
 ÐüÛéýÛ ©ÛÛé ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ›÷é ÉÛîýÛ ÐüÛéýÛ ©Ûé ÉÛÛéµÛÛé. 

  (1) A + B (2) AB (3) A2 

  

  If A = 






1 –1 3

2 0 1
 and B = 







2 1

1 –2
 find the following whichever possible. 

  (1) A + B (2) AB (3) A2 
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 Answer the following questions : 

 (1) ˜ÛÅÛÛé X …¶Ûé Y ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ 0.8 ÐüÛéýÛ ©ÛÛé X + 2 …¶Ûé Y – 3 ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ 

ÉÛÛéµÛÛé.   

  If the coefficient of correlation between variables X and Y is 0.8, find the 

coefficient of correlation between X + 2 and Y – 3 . 

 (2) ïäõÅÛ ¸Ûó›÷¶Û¶Û þùÁõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

  Define total fertility rate. 

 (3) ËÛéÜ¨Ûïõ¶ÛÛ •Ûä¨ÛÛïõÛÁõ ¾ÛÛ¤éø¶Ûà ›÷ÄõÁõà ÉÛÁõ©Û ›÷¨ÛÛÈÛÛé. 

  State the necessary condition for matrix multiplication. 

 (4) –ÛÛ©ÛÛ×ïõàýÛ ÍÛÁõÇàïõÁõ¨Û¶Ûà Áõà©Û¾ÛÛ× …ÈÛÅÛÛéïõ¶ÛÛé¶Ûé ïõýÛÛ ¸ÛóïõÛÁéõ ½ÛÛÁõ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  How are the weights assigned to the observations in exponential smoothing method ? 

 (5) …éïõ ÉÛÐéüÁõ¾ÛÛ× …éïõ ÈÛÌÛÙ¾ÛÛ× ›÷¶¾ÛéÅÛ 15,000 ¼ÛÛÇïõÛé¾ÛÛ×¬Ûà 315 ¼ÛÛÇïõÛé …éïõ ÈÛÌÛÙ¶Ûà ‹¾ÛÁõ ¸ÛÐéüÅÛÛ× 

¾Ûè©ýÛä ¸ÛÛ¾ýÛÛ ÐüÛéýÛ ©ÛÛé IMR ÉÛÛéµÛÛé. 

  If 315 children died before the age of one year from 15,000 children born during a 

year in a city, find IMR. 

 (6) A = 






1 1

–2 3
 ¾ÛÛ¤éø A + A' ÉÛÛéµÛÛé. 

  For A = 






1 1

–2 3
 find A + A' 

 (7) ¼Ûé ˜ÛÅÛÛé X, Y ¾ÛÛ¤éø r = 0.8, Cov (X, Y) = 20, V(X) = 16, ÐüÛéýÛ ©ÛÛé V(Y) ÉÛÛéµÛÛé.  

  For two variables X and Y, r = 0.8, Cov (X, Y) = 20, V(X) = 16, Find V(Y). 

 (8) ›Ûé N = 100, (A) = 60, (B) = 30, (B) = 20, ÐüÛéýÛ ©ÛÛé ¾ÛÛÜÐü©Ûà¶Ûà ÍÛ×•Û©Û©ÛÛ ˜ÛïõÛÍÛÛé.  

  If N = 100, (A) = 60, (B) = 30, (B) = 20, check the consistency of data. 

 (9) ›Ûé 






4 –3

x 2
 ÍÛ×Ü¾Û©Û ËÛéÜ¨Ûïõ ÐüÛéýÛ ©ÛÛé x ÉÛÛéµÛÛé.  

  If 






4 –3

x 2
 is symmetric matrix, find x. 

 (10) …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ÍÛäÁéõ”ÛÛ¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û ïõÁõÈÛÛ ¾ÛÛ¤éø ïõˆ Áõà©Û ÈÛÛ¸ÛÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  Which method is used for fitting a straight line to the given data ? 
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 (11) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶ÛÛ ÍÛ×½ÛÜÈÛ©Û þùÛéÌÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

  Define probable error for coefficient of correlation. 

 (12) ÈÛÍ©Ûà ÜÈÛÌÛýÛïõ …½ýÛÛÍÛ¶ÛÛé ïõÛéˆ¸Û¨Û …éïõ Š¸ÛýÛÛé•Û ›÷¨ÛÛÈÛÛé. 

  State any one use of demographic study. 

 (13) A = [1 2 5] …¶Ûé B = [4 7 2] ¾ÛÛ¤éø AB' ÉÛÛéµÛÛé. 

  If A = [1 2 5] and B = [4 7 2] find AB'. 

 (14) ›Ûé S1 = 110, T1 = 3.5 …¶Ûé  = 0.7 ÐüÛéýÛ ©ÛÛé x̂1 ÉÛÛéµÛÛé.  

  If S1 = 110, T1 = 3.5 and  = 0.7, find x̂1. 

 
___________ 
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